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Part I:

The following questions|refer to problem #1 from Part |:

1. To what extent do the boxplots su
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2. Using the data on Salary and Histg
alternative hypatheses, the F-stat
test in laymen’s terms? (10 points)
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pport the equal variance assumption of ANOVA? Explain. (8 points)
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ry, conduct a one-way ANOVA test. Record null and
stic, and the P-value below.

What do you conclude from this
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The following questions

3. Write the equat
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Interpret the me
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refer to problems|#2-4 from Part I:

on for your final multiple regression model here. State the variables used. (8 points)
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pe for your final model and interpret the meaning in context. (8 points)




6. Do any of the variables from your scatterplots appear to be nonlinear? Explain. (8 points)
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7. Consider the residual graphs for ypur final equation stated in#3. Do there appear to be any
problems with the model? Is the ¢qual variance assumption satisfied? Explain. (8 points)
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The following questions refer to pfoblems #5 from Part I

8. Record your y? test of independence here. Clearly state the hypothesis, all key test statistics
and the P-value. Interpret the resylts of the test in context. (10 points)
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The following questions refer to problems|#6 from Part I:

9. State the null and alternative hypothesis for the one-sample t-test. State the test-statistic and
P-value. What is the conclusion of your test? (8 points)
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The following questions

10. Is the two-samp
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11. State the null an
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Calculations in Excel: (1)
Part Il

12. Suppose that th
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Use the ANOVA table be
SUMMARY

N

low to answer the questions that follow.

Groups Count Sum Average  Variance
National 10 98 9.8 4.177778
Competitor 1 10 118 11.3 4.011111
Competitor 2 10 126 12.6 4.044444
ANOVA
Source of Variation SS df MS F P-value Fcrit
Between Groups 39.26667 2 19.63333 4.814714 10.016282 3.354131
Within Groups 110.1 27 4.077778
Total 149.3667 29
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17. Based on the sc?tterplot, is the linear model an appropriate

o

18. Using the betteri model, predict the average monthly bill for

temperature of 85 degrees. (6 poi
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19. Which variable in the scatterplot i

Use the multiple regression output and th
predicts an overall employee rating based

Regression Statistics
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5 the response variable? (4

on the results of four tests.

model for the data? (4 points)

a month with an average monthly
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e residual plots to answer the following questions. The data

Multiple R ANOVA
R Square 0.8386710 | df Ss MS F Significance F
Adjusted R | Regression 4 5161.9923 | 1290.498 32.49072  1.43375E-09
Square 0.8128584 Residal 25 992.97432 | 39.71897
zf;‘:'ard —— Total 29 6154.9666
Observations 30 |
! Standard Upper Lower Upper

Coefficients |  Error i Stat P-value  Lower 95% 95% 90.0% 90.0%
Intercept -57.198345 |10.438851  |-5.479 108E-05  -78.6975 -35.6991 -75.0293 -39.3673
Test1 0.6079173 |0.1140467 5330 1.59E-05 0.37303 0.84280  0.41310 0.80272
Test2 0.4869782 |0.1466522  B.3206  0.00276 0.18494 0.78901  0.23647 0.73748
Test3 -0.6185604 |0.1778282  |-3.478 0.001864 —0.92480 -0.25231  -0.92231  -0.31480
Test4 1.2308779 0.1956889  $.2899  1.4E-06 0.82784 1.63390  0.89661 1.56514




20. Interpret the coefficient reported for Test #1 in context. (4 points)
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21. State a 90% confidence interval fo the coefficient for Test # 3. (6 points)
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22. Can any coefficients be eliminated from the model? Why or Why not? (6 points)
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23. The Residual plot vs. Test #3 is

shown. Does the plot appear to .
exhibit any problems? Why or why TESt3 Re5|dual PIOt
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Test3

24. What assumption of regression models is being tested in the residual plot? (6 points)

25. Predict the rating|of a single employee with test scores X1 =47,x; = 68,x3 =79, X4 = 91. (5 points)
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